
確認テスト

【三角比】





１

       





 

  


    

  


    




      




   


  

      






２

     



 



     

   


  




 

 



   

  


 

   



３

 

      

     

 

       

        



４



      

      



      

     

       

 


  



５

 

     

      

   

      

      




